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MANUFACTURING INDUSTRIES

Elementary Questions

1. Which sector is not the sector of economy?

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_Xpzx15tYiglL


A. Primary

B. Secondary

C. Tertiary

D. Fourth

Answer: D

View Text Solution

2. Sale promoting activities belong to which

sector of the society?

https://dl.doubtnut.com/l/_Xpzx15tYiglL
https://dl.doubtnut.com/l/_tGT3HPQeTGiY


A. Primary

B. Secondary

C. Tertiary

D. Fourth

Answer: C

View Text Solution

3. What is the full form of NMCC?

https://dl.doubtnut.com/l/_tGT3HPQeTGiY
https://dl.doubtnut.com/l/_maGAOg01YIuh


A. National Manufacturing Computer

Corporation

B. New Medical Competitive Council

C. National Manufacturing Competitive

Council

D. Non Medical Competitive Council

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_maGAOg01YIuh


4. Finished products of _______ industries are

used as raw material.

A. Agro-based

B. Mineral-based

C. Key

D. Consumer

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_OGDUZTKmz4da
https://dl.doubtnut.com/l/_dCkQakkr8s97


5. Joint sector industry is a type of industry

based on

A. Capital

B. Ownership

C. The bulk and weight of raw material and

finished goods

D. Their main role

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_dCkQakkr8s97
https://dl.doubtnut.com/l/_0540LOCHbLnh


6. Light industries use

A. Light raw material

B. Materials which produce light

C. Light investment

D. All of these

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_0540LOCHbLnh


7. Name the industry in which India is self-

reliant?

A. Textile

B. Sugar

C. Iron and Steel

D. Chemical

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_SG9ZczhdMg3l
https://dl.doubtnut.com/l/_HO5vdHK0GyhV


8. Most of the jute mills are located along the

banks of Hugli river because of

A. Proximity of the jute producing areas

lying mainly in the basin of the Hugli

river

B. Inexpensive water transport available

C. Abundance of fresh-water for producing

raw jute

D. All of these

Answer: A

https://dl.doubtnut.com/l/_HO5vdHK0GyhV


View Text Solution

9. Which is not the country importing Indian

jute products?

A. USA

B. Canada

C. UK

D. Iran

Answer: D

https://dl.doubtnut.com/l/_HO5vdHK0GyhV
https://dl.doubtnut.com/l/_XVZRHqJfEP8s


View Text Solution

10. Mysore industrial centre is related to the

production of which fibre among the

following?

A. Wool

B. Cotton

C. Silk

D. Jute

Answer: C

https://dl.doubtnut.com/l/_XVZRHqJfEP8s
https://dl.doubtnut.com/l/_cx3swup0GcPY


View Text Solution

11. The ideal location of a sugar mill is near the

sugarcane producing areas because:

A. The government policies are favourable

B. The basic raw material of is heavy, bulky,

perishable

C. Availability of transport

D. Establishment of industries is less

expensive

https://dl.doubtnut.com/l/_cx3swup0GcPY
https://dl.doubtnut.com/l/_8UNONSA20g2Y


Answer: B

View Text Solution

12. Which of the following is not a sugar

producing state?

A. Uttar Pradesh

B. Karnataka

C. Andhra Pradesh

D. Assam

https://dl.doubtnut.com/l/_8UNONSA20g2Y
https://dl.doubtnut.com/l/_3uMTZYKmB8o0


Answer: D

View Text Solution

13. Which one the following industries

manufactures mobiles and computer laptops?

A. Steel

B. Aluminium

C. Electronic

D. Information Technology

https://dl.doubtnut.com/l/_3uMTZYKmB8o0
https://dl.doubtnut.com/l/_FZHQzNS1XlGK


Answer: D

View Text Solution

14. Which factor has influenced Indian

economy and standard of living of the people?

A. Green revolution

B. Technology revolution

C. Industrial revolution

D. Construction revolution

https://dl.doubtnut.com/l/_FZHQzNS1XlGK
https://dl.doubtnut.com/l/_Hsnr3H9GlsLl


Answer: C

View Text Solution

15. On the basis of ownership, in which sector

can the Bhilai steel plant be put?

A. Tertiary Sector

B. Private Sector

C. Insurance Sector

D. Public Sector

https://dl.doubtnut.com/l/_Hsnr3H9GlsLl
https://dl.doubtnut.com/l/_UvzWP64YYb3x


Answer: D

View Text Solution

16. Give an example of the consumer industry.

A. Textile Industry

B. Butter Industry

C. Juice Industry

D. Wood Industry

Answer: A

https://dl.doubtnut.com/l/_UvzWP64YYb3x
https://dl.doubtnut.com/l/_2OEZHVMNtkZo


View Text Solution

17. When and where was the first successful

textile industry set up in India?

A. In Thane in 1954

B. In Mumbai in 1854

C. In Thane in 1854

D. In Mumbai in 1954

Answer: B

https://dl.doubtnut.com/l/_2OEZHVMNtkZo
https://dl.doubtnut.com/l/_UY3joFd9OvsK


View Text Solution

18. In which two states in India has the cotton

textile industry developed the most?

A. Maharashtra and Bihar

B. Gujarat and Bihar

C. Maharashtra and Gujarat

D. West Bengal and Gujarat

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_UY3joFd9OvsK
https://dl.doubtnut.com/l/_BhAWK8awVm0X


19. Name the two main centres of cotton

textile industry

A. Mumbai and Kolkata

B. Mumbai and Ahmedabad

C. Ahmedabad and Lucknow

D. Lucknow and Ahmedabad

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_BhAWK8awVm0X
https://dl.doubtnut.com/l/_1Af3RZp04LTK


20. Where the majority of jute mills located in

India?

A. On the banks of river Hugli

B. On the banks of river Yamuna

C. On the banks of river Krishna

D. On the banks of river Satluj

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_LlxZ2MEMlPT8


Higher Order Thinking Questions

1. The economic strength of the country is

measured by which of the following

developments?

A. The development of the manufacturing

industries.

B. The development of the literacy ratio.

C. The development of the health status.

https://dl.doubtnut.com/l/_XeuI8IIQqbDr


D. The development of the population

growth.

Answer: A

View Text Solution

2. What is the correct meaning of

agglomeration economies?

A. Many industries set up in rural centres

B. Industries are basically agro-based

https://dl.doubtnut.com/l/_XeuI8IIQqbDr
https://dl.doubtnut.com/l/_IQas8xscSTxA


C. Many industries tend to come together

to make use of the advantages offered

by the urban centres

D. Industries set up produce raw material

for secondary sector

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_IQas8xscSTxA


3. Which one of the following is not true

regarding the Iron and Steel industry in India?

A. India is the largest producer of sponge

iron.

B. Most of the public sector undertakings

mar ket their steel through the Steel

Authority of India.

C. Chhotanagpur Plateau region has the

maximum concentration of iron and

https://dl.doubtnut.com/l/_nbUFtFeSMOHw


steel industries.

D. As a leading iron and steel producing

country, India does not need to import

steel from other countries

Answer: D

View Text Solution

4. Which one of the following industries, due

to its seasonal nature, is ideally suited to the

cooperative sector?

https://dl.doubtnut.com/l/_nbUFtFeSMOHw
https://dl.doubtnut.com/l/_lwO9y87HK1LM


A. Sugar

B. Jute textile

C. Automobile

D. Cotton textile

Answer: A

View Text Solution

5. Which one of the following air services

provides services to Oil and Natural Gas

Commission in its off-shore operations?

https://dl.doubtnut.com/l/_lwO9y87HK1LM
https://dl.doubtnut.com/l/_zM2SE5sHC9oT


A. Indian Airlines

B. Air India

C. Pawan Hans Helicopters Ltd

D. Alliance Air

Answer: C

View Text Solution

6. Regular supply of electricity and an assured

source of raw material at minimum cost are

https://dl.doubtnut.com/l/_zM2SE5sHC9oT
https://dl.doubtnut.com/l/_3UWax3PeLDpB


the two prime factors for the location of which

one of the following industries

A. Iron and Steel

B. Automobile

C. Aluminium smelting

D. Electronics

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_3UWax3PeLDpB


7. Where was the first Cement Plant set up in

India?

A. Mumbai

B. Kolkata

C. Chennai

D. Delhi

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_IAoBJpgv0V4J
https://dl.doubtnut.com/l/_ec8gSviBKner


8. Manufacturing Industries are placed in

A. Primary sector

B. Secondary sector

C. Tertiary sector

D. Service sector

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_ec8gSviBKner


9. Which one of the following countries has

the largest installed capacity of spindles in the

world?

A. India

B. China

C. USA

D. Britain

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_z9DWLIBaKxqd


10. Textile industry is an example of

A. Agro based industry

B. Co-operative sector industry

C. Mineral based industry

D. Marine based industry

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_0r6jEVqWPbWL


11. Which one of the following is not true

regarding the National Jute Policy of 2005?

A. Creating awareness about the use of bio

degradable materials

B. Ensuring good prices to the jute farmers

C. Increasing productivity

D. Improving quality of Jute

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_GC1CHNYWUh8o


12. Which one of the following factors has

once again opened the opportunity for jute

production?

A. Increasing concern for the use of

biodegradable materials

B. Increasing productivity

C. Enhancing the yield per hectare

D. Improving quality

Answer: A

https://dl.doubtnut.com/l/_GC1CHNYWUh8o
https://dl.doubtnut.com/l/_1K8fzQDtOn4S


View Text Solution

13. Which one of the following steel plants is

located in Chhattisgarh?

A. Bokaro

B. Durgapur

C. Bhilai

D. Rourkela

Answer: C

https://dl.doubtnut.com/l/_1K8fzQDtOn4S
https://dl.doubtnut.com/l/_vhuqCeuiYUwO


View Text Solution

14. Most of the sugar industries are ideally

suited for

A. Private sector

B. Joint sector

C. Cooperative sector

D. Public sector

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_vhuqCeuiYUwO
https://dl.doubtnut.com/l/_CzILrlPdrmGy


15. Which one of the following agencies,

market steel for the public sector plants?

A. HAIL

B. SAIL

C. TATA STEEL

D. MNCC

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_CzILrlPdrmGy
https://dl.doubtnut.com/l/_9kgGgdL45DvY


16. Which of the following group of factors is a

prime group for the location of aluminium

smelting plant?

A. Capital and Market

B. Raw material and Electricity

C. Labour and Raw material

D. Capital and Transport

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_0VZOsr5H1lNL


17. Small scale and large scale industries are

classified on the basis of

A. Capital investment

B. Ownership

C. Main role

D. Source of raw materials

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_sXTfrChEpWxf
https://dl.doubtnut.com/l/_FlfXKyLcV2YP


18. Which one of the following factors is

considered as the most prominent one in

industrial location in a region?

A. Availability of raw materials

B. Market

C. Cheap Labour

D. None of these

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_FlfXKyLcV2YP
https://dl.doubtnut.com/l/_OK5N6m3GUyFQ


19. Which one of the following cities is known

as electronic capital of India?

A. Srinagar

B. Noida

C. Bengaluru

D. Pune

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_OK5N6m3GUyFQ


20. Which one of the following groups of

states has the largest number of cotton textile

centres?

A. Gujarat and Maharashtra

B. Karnataka and Tamil Nadu

C. Maharashtra and Madhya Pradesh

D. Uttar Pradesh and Gujarat

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_ACS1PvMAZ2Wg



